Site Amenities

BY SUPERIOR RECREATIONAL PRODUCTS

SR
R
NS

e
SR
ey

SR
e
e
S
TS
S
e
e
e, e
e SR
e e
R e e
e e
= e
SN
P S S s O
e

ANy
e e

SR
e
e

e e
R
e
ey =

SRRTIR TN

S
e
St

ST
T

SR
e

———
S

S

e
e
S =
S
S ey
e
e e S
5 e
> e

R
R
SR

Model #
T8ROLLHDCP

3/4/2019

SUPERIOR]
RECREATIONAL PRODUCTS

a 2| AYCORE campany

Page 1 of 8



HARDWARE

5/16" x 1"
Machine Bolt

5/16" Washer

5/16" Kep Nut

SUPERIOR]

RECREATIONAL PRODUCTS
API_A""CORE‘ Company

3/4/2019 Page 2 of 8



PRODUCT SPECIFICATIONS

T8ROLLHDCP
8’ PORTABLE ACCESSIBLE PICNIC TABLE WALK-THROUGH DESIGN

Top & Seats: End plates are fabricated out of 7 gauge x 3” with a 3” diameter corners. 3/4” #9 steel expanded metal. 7 gauge x 1-1/2”
flat bar center support and mounting bracket understructure. 5/8” rod to finish off expanded edge. Electrically MIG welded.

Coating: Oven fused functionalized polyethylene copolymer-based thermoplastic. Fluidized bed coating application with superior
mechanical performance, impact resistance and UV-stability.

Frame: 2-3/8” O.D. x 12 gauge pre-galvanized structural steel tubing. Cross braces 1" O.D. x 16 gauge pre-galvanized structural steel
tubing. Brace attachment points 1-1/2"x1-1/2"x3/16” steel angle. Seat and top mounting points 7 gauge x 1-1/2” die stamped steel flat
bar. Legs are bent over a mandrel through the bend radius producing a wrinkle free bend. All electrically MIG welded.

Frame Coating: Electrostatic powder coated application oven cured.

Hardware: All stainless steel hardware fasteners.

Dimensions: 8’ accessible picnic table walk-through design. Top is 30” wide x 96” long and is 31-1/2” high. Seats are 12” wide x 72” long
and 19-3/4” high. Outside to outside dimension is 68-1/2” x 96”. The table over hangs the frame 33” on one end.

SUPERIOR]

RECREATIONAL PRODUCTS
A P|AYCORE campany

3/4/2019 Page 3 of 8



COMPONENTS

PartNo

DESCRIPTION

T-VR72-S

6' Vinyl Rolled Seat

VRI6HS-T

8'HS Vinyl Rolled Top

P-01-04-0125

29 7/8" Brace

P-v238

238 Vinyl Frame

33-02-0007

5/16" SS Washer

33-05-0029

5/16" x 1" Machine Bolt (SS)

33-03-0012

5/16" Kep Nut (SS)

3/4/2019

P-01-04-0148

158/238 HS Brace

Optional Surface Mount Hardware:
5/16" x 5" Concrete Expansion Anchor Bolts
(Not Included)

SUPERIOR

RECREATIONAL PRODUCTS
A P|AYCORE campany

Page 4 of 8



.____m_.
,_.__‘..“‘“._._.s_.

.

(

o
o
e

x._w& \

__

$
__‘1 _\\_;_____‘

s,

iy ‘___.q__n_ iy

.‘_q_____ __Rﬁ._ \‘._\ i _‘___“.._.__ \3_7

%ﬁ%ﬁ%yﬁﬁ

IR

i

_‘______\1}______ o

it

AP

i

i
.
s
s
! )
R
L
f _._. ¥ \\_m__:_‘_:.:.
\___ __ \__‘\__ “\\__._ ‘:__._‘\ ._‘_.-..
(A A 0%,
&,*,,_%‘,‘\‘\ s
s
Y
_‘__5.._ iy _.a A NS
A RS
N ‘\ﬁﬁ‘ﬂ%&t
Y
v
o
_‘_‘“‘.____._& ‘\_.__“..___11__ @m\m__}& h
§&ﬁm=§}£:=
S
e
L
il L
P
| _‘.ﬂ“__v._“_____q ‘______%__ﬁ_\‘l__““c\\__“‘.‘ i
A
i
i
{_::_._ ._‘\ ___..L_i___‘_“\@_.xi_______t..»
i g__h‘\ﬁ% i
i
i 13\‘+x
s
RS
) ‘““\%_%_.._...._
%‘ﬁ‘\%@%‘\\3“‘“\%...”
AN
e
e
A
e
P S
s
0
e
s
s
;_\__\‘___:._; i __\_: X
Ao 0

(et hﬁ%@.ﬂﬁﬁ _%“‘”..,__

{h (X
%ﬁ%ﬁ%ﬁﬁ
eI
TN
s
R }? ()

A R
i,
i,
L
el \m“ Al
T

e
en
_vmﬁhﬂ%ﬁ&\‘ \\‘&m‘ﬂ%‘\\; \
R
i \+______. i
R
Q0 m
L_“_&‘_m,_‘_.‘ ____,‘_ __x‘__‘_;_““__\__x‘_‘____-_‘.__....o.o,
Qs
) 0
L
G
._._‘_Q_L_‘_____.......
_.“_\_...-..o,

il _.....-H :

._
\\&_, )
(RO
s

‘o.

ing specified hardware.

Attach the 8' Vinyl Rolled Top to the Frames us

RECREATIONAL PRODUCTS

S SUPERIOR

A P|AYCORE campany

Page 5 of 8

3/4/2019



Attach the 29-7/8" Braces to the 8' Vinyl Rolled Top and
the Frames as shown using specified hardware.

SUPERIOR]

RECREATIONAL PRODUCTS
A P|AYCORE campany

3/4/2019 Page 6 of 8



U\
_m”‘\\wm\,‘_‘
|
i
i
/
‘““%
)
i
/
i
|
i
1 D
i
h
e
i
{f
.
i

f
ﬁ_ﬁ__i
____________q_______
R_____u ﬂ_.,___ﬁ____““
i
i
piiiie
i
i
___‘________“_ﬂ.\_.,ih_“_““\____,“
‘___“_____‘_‘____w_____. il
il

j
/
0
i

f

il
,f_m_u__‘__
U 11___._“x /

i
.:\

|
y

iy
oy
l _._‘______““

U
I
i
it
il

il

______._‘
:_____‘ |

____\__.

___.:\
J
i

i it
s w\
i
fl
.\\‘__L‘_.____.

i
g
i }_\

f v“v‘_‘l
\

i ___‘___
i
s

1
{f

o
"

i/

_.____

i
"
i
_‘\
0
/ é A ____“._ i
i (i
i

i

c‘__\&\‘_

\.ﬁ@“
/

)

il _‘___\__ﬂ__.____
i

i \:
i
i

!

i

i i

.
)
i _&__“_‘ ‘ﬁ_\\\‘
‘_. ‘—. I
i

%

h
\
i

_“ i ‘___
i
____‘_ fhes' B ,‘_.___“._w__.“._“_
A fn

x

i

) ““_.

i L_
i \‘ h__ﬂ
i.;{___ku.‘i ke
_v‘“‘__“m_wmg\ i i i ; _“.m___‘__‘_.. X
fi
I_E“e_\__ i ‘_\E__, ‘____‘____&.‘ ;
A
i R /|
_‘\_A‘“ﬁ_.\______ ) it
o NG
f A
I i )
P _:V_“:.. .__l% 4
sk {T_s\:__ i
i \ i
f f i J____ﬂ__‘ﬂ.
R
i o :‘_‘\___ﬁ‘\u“,\h %
[
s " \““‘
, il
i |
fip i | .‘“_ ___. ‘_____“_\
i i
1_‘ _“ _m_t
i i
| e m_
/! ,_‘_ i
il XD
g i L
i
s }“__:_
i/
Wi
i
___“__‘.___ i
(X
i
i
i x:_
_.“.\ )
i

g
i
i
il y
i i
(! i i
‘u___ i i ____\‘__é_\,n_.__ i
f
il
it
i
i _“1_3
it
i
i
_LS_
(i
i
l {
__‘_n_m_ﬁﬁ_ % \________}__ s

i i
I,
o Pl
",
it i ‘._‘:.___ ____ “m\\..\_:

s
e
A
s
i ! q___,__.‘\ J\‘ _.__?____x_._“‘\“___\_.-.
OO

S
A
e
i &a_ﬂa__,___“\__‘ it A
i el
i _‘“‘&Hﬁﬁﬁ ‘\‘“,\\,ﬂ_“%@.. 3
i ,_w\“,i__“\__‘.t s
‘:‘ (f ﬂ_ f i ____\ h\}‘_i__...
S
_“m“ s
(o
I8 ___H\_w_“ :
Ly
“____1_. ._‘“‘\\.______,‘_\ _ﬁ__ ﬁ____._____:‘,_“_____‘_.‘ AN
Bl N
___‘_____v\_‘.__x_ i __“____‘. iy
i i ‘_EU_ il
[}
il i S i
s n
_‘__\&___c“q__ﬁ \hﬁ‘\m_\h“%__«.... %“_m\‘m‘“
“ﬁ.%ﬁ“‘ W pn
i _‘__\_._A_ﬁ \.___‘__3 i “ x__u_._‘_ __.
i __\_L_U_,L_f___“_._‘_‘_ _.\__\ ; ____“Nﬁ_.
o
n o
A ____3_ __\_.__
i
)
m‘_“__“_q_““________b_‘_ i
¢
Emh\“u_‘_ﬁ........“
.%‘“m._,\\}
/ fy
... 0
i
i el
L
.
(OCK
IS
W
%‘&\& s

e
‘_‘x_ﬁm“: :
i ‘\___“_.“_._..‘. W, !
__‘._s__\“.____ﬁ_{... . y
‘_‘__1\ i
i
Ji

i y e

i i

it i

s i
o it
.

i K W

i i
I, i \._“__‘\_“
t\_“”_“.“_

fi)

il i

s

!

i
s i
,.___‘__._n.i‘__‘_\& B s i

i NS, ..%3___...,,_
s a0

o

i

f
sg

i

f
o ____‘.u_u_&_ﬂ_ 0 ‘____o_ ) W
D
i i _m_‘_
Y
_x___:.. (ol

e

/

‘_q“_“___‘__‘“_\ i __*‘___‘_“_\w___md‘..‘...o_,
N
‘\\&,___ﬁ_ ﬂ.... )

W
i,
_q.________“_ﬂ_____ﬁ_“__‘_ﬂc.....,,
NS
.Q&__ )
1 \_“\_.‘.._ O

i wm_m_ﬂn.oh.

505
A5

ing specified hardware.

Attach the 6' Vinyl Rolled Seats to the Frames us

RECREATIONAL PRODUCTS

S SUPERIOR

A P|AYCORE campany

Page 7 of 8

3/4/2019



OVERALL DIMENSIONS

Wt
SN
R
Sy ‘\:\‘;;‘\5':‘:\,_ UL

e

AR
e

3

TR
iR
W \‘., S

RaN

LA

S

Eh

69 7/16"

31 9/16"
19 7/16"

RECREATIONAL PRODUCTS
A P|AYCORE campany




